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d)  

Código: 

phi = eye(2,2) + A*dt + A*A*dt*dt/2 + (A*A*A)*dt^3/6 + (A*A*A*A)*dt^4/24 + 
(A*A*A*A*A)*dt^5/120 + (A*A*A*A*A*A)*dt^6/720 + (A*A*A*A*A*A*A)*dt^7/5040 + 
(A*A*A*A*A*A*A*A)*dt^8/40320; 
termo_forcante = dt*(eye(2,2) + A*dt/2 + (A*A)*dt^2/6 + (A*A*A)*dt^3/24 + 
(A*A*A*A)*dt^4/120 + (A*A*A*A*A)*dt^5/720 + (A*A*A*A*A*A)*dt^6/5040 + 
(A*A*A*A*A*A*A)*dt^7/40320 + (A*A*A*A*A*A*A*A)*dt^8/362880); 
mt = syslin('d',phi, termo_forcante*B, C); 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figura 1 - Resposta para uma entrada 'step' 

Figura 2 - Resposta para uma entrada 'step' utilizando a matriz de 
transição 
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